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Operator Sudoku: 

 

An Operator Sudoku is a Sudoku in which a number of positions are clustered, for that positions 

the multiplication, the sum or the difference is known. 

 

 

Explanation: 

 

The sum (+) of the three positions marked with the blue line, is: 19. 

 

  Solution:  8 + 5 + 6 = 19 

 

 

 

 

 

The difference  (-) of the two positions marked with the blue line, is: 3. 

 

 Solution:   The difference is always positive, so 1 – 4 as well as 4 – 1 gives: 3. 

 

 

 

 

 

 

The multiplication (*) of the three positions marked with the blue line, is: 54. 

 

  Solution:             3 * 9 * 2 = 54 

 

 

 

 

 

 

 

 

 


